

$$\begin{aligned}
 \text{I} \quad (\tan \theta)' &= \left(\frac{\sin \theta}{\cos \theta} \right)' \\
 &= \frac{(\sin \theta)' \cos \theta - \sin \theta \cdot (\cos \theta)'}{\cos^2 \theta} \\
 &= \frac{\cos \theta \cdot \cos \theta - \sin \theta (-\sin \theta)}{\cos^2 \theta} \\
 &= \frac{1}{\cos^2 \theta}
 \end{aligned}$$

$$\text{II}_{(1)} \quad f(t) = \log(1+t) \quad a \in \mathbb{R}$$

$$f'(t) = \frac{1}{1+t}, \quad f''(t) = -\frac{1}{(1+t)^2}, \quad f^{(3)}(t) = \frac{2}{(1+t)^3}$$

$$f^{(4)}(t) = -\frac{3!}{(1+t)^4}$$

$$\begin{aligned}
 \text{II}'' \\
 f(0) &= \log 1 = 0, \quad f'(0) = 1, \quad f''(0) = -1, \\
 f^{(3)}(0) &= 2
 \end{aligned}$$

と(1)の Taylor 展開

$$\begin{aligned}
 \log(1+t) &= t - \frac{1}{2}t^2 + \frac{1}{3!} \cdot 2t^3 - \frac{1}{4!} \cdot \frac{3!}{(1+t)^4} t^4 \\
 &= t - \frac{1}{2}t^2 + \frac{1}{3}t^3 - \frac{1}{4} \cdot \frac{1}{(1+t)^4} t^4
 \end{aligned}$$

と(2)の Taylor 展開 $0 < t < 1$ の場合

$$\begin{aligned}
 (2) \quad t > 0 \quad a \in \mathbb{R} \quad 0 < c < t \\
 -1 < t < 0 \quad a \in \mathbb{R} \quad -1 < t < c < 0
 \end{aligned}$$

0 < t < 1 の場合

$t \neq 0$ かつ $t^4 > 0$ のため

$$-\frac{1}{4} \cdot \frac{1}{(1+c)^4} t^4 < 0$$

〇〇〇 合かる。従、2

$$\log(1+t) < t - \frac{1}{2}t^2 + \frac{1}{3}t^3$$

2' である = 〇〇〇 合かる。

III

$$f(t) = \frac{1}{1-t} \quad a \in \mathbb{Z}$$

$$f'(t) = -\frac{1}{(1-t)^2} \cdot (-1) = \frac{1}{(1-t)^2}$$

$$f''(t) = -\frac{2}{(1-t)^3} \cdot (-1) = \frac{2}{(1-t)^3}$$

$$f^{(3)}(t) = -\frac{2 \cdot 3}{(1-t)^4} \cdot (-1) = \frac{3!}{(1-t)^4}$$

である。 $f(0) = 1, f'(0) = 1, f''(0) = 2$ である。 である。

$$\begin{aligned} \frac{1}{1-t} &= 1 + t + \frac{1}{2} \cdot 2t^2 + \frac{1}{3!} \cdot \frac{3!}{(1-c)^4} t^3 \\ &= 1 + t + t^2 + \frac{1}{(1-c)^4} t^3 \end{aligned}$$

$\varepsilon = \frac{1}{(1-c)^4}$ と $\delta < \varepsilon$ 〇 t の 1 の 1/4 である。